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IV Semester M.A. Examination, June 2016

(CBCS)
ECONOMICS

. Advanced Computer Applications for Economic Analysis

Paper — 4.1
Max. Marks : 50

Time : 2 Hours
Instructions: Answer all the qusestions.

PART - A
Section —|
1 Answerany fivequestions: (5%1=5)
a) Define simultan€ous equations bias.
- b) Define the z-score of discriminate function.
c) Define behavioural equation.
d) Statethe objectives of Ractor Analysis.
e) Whatis cluster-analysis ?
f) Define electronic trading.
g) What doyou mean by validation ?
h) Define B2B model—
I ‘Section -1
(2x5=10)

Answer any two questions:
@ Explain discriminate analysis. In which situation it is used ?

'))s(Ex/plain'the inconsistency of OLS estimations inthe context of s-imultane
in SPSS with an example.

ous equatfions.

o | -
/ {) Write the procedure to estimate multiple regression
C/S/ Describe the role of C.S.0.in construction of data base on Indian Economy.
PART-B | |
Section - !
6. Answer any five questions: - (5%1=5)
a) Distinguish bivariate and multivariate mcdels.
b) Define recursive model.
c) Define under identified equation.
P.T.O.
% / |
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d) Define hitratio and R-square.
e) What is meant by digital signature ?
f) Define the level of significance.
g) Define B2C model.
“h) Whatis meant by online banking ?

Section — H

Anhs'werany two questions : - (2x5=10)
7. at is ANCOVA ? Explain its application in econorhic analysis. <
§)Explain the procedure of estimation of recursive model. & |
B /9/6iécuss the applicaﬁon of in'formation technology in stock excﬁange'._
/10{ Analyse the use of electronic trading. e
( | i '__;S;ectig_r{ _;__'iii__,, -
Answer any two questions o (2x1 0*2@)

11. Whatis identification ? Examine the procedure to estimate over identified equatior.

12. The following data represent the yield of a crop from four farm plots which uses
four varieties of fertilizers. Test whether there is significant difference in yield
using appropriate test. | - -

13.

L~

the level of education and interpret the results.

Variety A Variety B Variety C Variety D
7 3 6 “ B
| 8 4 8
12 7 10 -9
14 8 12 13 //‘

The following data shows the salary of 5 persons. Regress it on experience and

. Salary (000’s) 0 8 12 7 1
LV
E‘)\x Experience 8 4 7 3 5 -
7 & Education (in year) 0 7 11 5 9
¢ Ay ,
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